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. AcQ, P(A)=0
2. P(Q)=
3. AA..ZIxER
= P(AUAzuAa...):gP(A)



Notes:
1. AcB= P(A)<P(B)

X B: é U(w)
BRI REE[Es
— P(B) =P(A) + P(B\ A)

= P(B) > P(A)

2. AcQ, 0<P(A)<1
- 0<P(A) < P(Q)

1

= 0<P(A) L1



3. P(A°)=1-P(A)

S AUAS =0
= P(Ay A%) = P(QY)

P(A)+ P(A%) =1
= P(A%) =1- P(A)

4. P(¢)=P(Q%)=1-P(Q)=1-1=0



5. P(AuB)=P(A)+P(B)-P(AnB)
= & B s x P (addition  rule)

A B;A B

AuB=AuU(B\A)
=AU (BN A")
P(AU B) = P(A) + P(B~ A°)
“B=(BNAU(BMNA")
= P(B)=P(Bn A)+ P(BN A")
“ P(BN A%) = P(B)— P(AN B)
. P(AUB) = P(A) + P(B) - P(AN B)

B A-




%32 3.9: ABcQ, B P(AUB)=P(A) +P(B)-P(ANB) %
AB 3 % > g P(AUB)=P(A)+P(B)-P(¢) = P(A) + P(B).



